ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



o~

SD-58782-00 10

DWG. NO.

DIMENSIONS IN METRIC DO NOT SCALE DRAWING

MM

N —FALOE—

PEV—TUFx

POLARIZATIONS KEY FOR COVER

PE MARK IDENTIFICATION

«

™M L
—
Wl o H | W
<| !
\
\
\
B87.4 _
82.8
0~
Ml
Moy

NIV TREBABEF—

POLARIZATIONS KEY FOR HOUSING

M+
NOTES

il

« BRIy T
APPLICABLE PLUG COVER ASS'Y

ST TILIAT : 5846 1-0010 /
: 58462-0010 /

RIGHT-ANCLE TYPE

TN e e

2. RN T Tyt T

APPLICABLE HOUSING ASS’Y

55347-52+5 (52 CKTS. MAIL HS'G ASS'Y)
54478-52%5 (52 CKTS. FEMAIL HS'G ASS'Y)

3. EEQUIHDNIT SILY

RECOMENDED SCREW TIGHTENING TORQUE

® M3 :5~6kgf.cm
@M2.5 : 4~5kgf .cm

A, BRI NS T

APPLICABLE CRIMP TERMINAL FOR GROUND

TERCEE N ENLLEDER T A ACERL T TEmF & A

RING TERMINAL FOR POWER WIRE SIZE OR BIGGER ONE.

1010
1010

(LARGE)
(LARGE)

[TRESHAHS STVl (M2.5 X6)
FREE DRIVE HEAD SCREWS WITH
SPRING WASHER(M2.5 6l

i, —vTILXuE | 4

STEEL, NTPLATING

(TTEEEFDHAH T T VTR (M3 X 5)
FREE DRIVE HEAD SCREWS WITH

M, —wTIXuE |,

A E ANGLE 30

30 16‘,\1/{&: 0.3

10 Ghek 30 R | 02

10 ﬁd&. 0.2

CEh{R_AL‘%&\ﬁ NCES

©® SPRING WASHER (M3 y5) STEEL, NTPLATING 58782-0010
Q| 727 7oK I—=F]L  |E#,__TILXuF ,
PLUG GROUND TERMINAL BRASS, NT PLATING
D T>7 il FL=—O0EE |
PLUG SHELL ALUMINIUM ALLOY
e ol i ma B 2RES
NO. PARTS NAME MATERIAL QUAN,  ENG. NO.
ki =2 /’r\ MOLEX-JAPAN CO.,L TD.
SER AABLE "ijaasfwazmcen —
0
gi-NJ[:SJ TR]’I::[{IESE%(::LY ON CAD SYSTEM
REIREE ROBOT CONN.
FT LY PLUG SHELL ASS'Y ~
RO, | et
@ §>E*L<E>§%ED JDI0EB3) M T.1| eesves '\ ?pﬁ DWG. NO. (SHETT 10F 2) REV g
TP - - 5
BR| revEioemrcoro |t b #‘;%. REe -1 5D-58782-0010 0 3

THIS DRAWING CONTAINS INFORMATION THAT |S PROPRIETARY TO MOLEX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

FREBEEFEL Y IR (K) OFBIDERESLENT SHOFTLGLEHERE LT D

4

3 \

b EN-Q‘IC((BBZ)MXJGZ



DIMENSIONS IN METRIC DO NOT SCALE DRAWING

MM

L
~—— ——
==

,E,’

7 6 5 4 3 2
S
S
S
&
o
N~
(e e
ok
S a
zZWU (o] o
(&}
g & I
o o
E
— &N
B o
< F- T F %
= T TT1 «“
3 IRRIAI N
D i
U
. |

MALE HS'GC ASS'Y (52 CKTS.) FEMALE HS'G ASS'Y (52 CKTS.)
55347-5215 (TYPE A) 3 54478-5215 (TYPE A)
X
XANNDDI T 7o T )ESERER TAAINNDD T 7 vy JESREN
FIGURE OF MALE HOUSING ASS'Y WHEN ASSEMBLED FIGURE OF FEMALE HOUSING ASS’Y WHEN ASSEMBLED
b B ria /7 "\ MOLEX-JAPAN CO.,LTD.
SEE SHEET 1 0OF 2 m°|exE$fL'772ﬁitﬁ?i —
N
ey REVISE ONLY ON CAD SYSTEM
SAREEE TITLE &%
B E ANGLE | WIRE RANGE —— ROBOT CONN.
3054 03 REAAE PLUG SHELL ASS'Y z
10 Bhekr 30 Fidfke |05 e — (LARGE) 2
0 & w02 EE SHEET 1 OF 2 R oY &lps  [OWG.NO.  GRETT 2 OF 2 REV 3
s APP [ - - 5
crera Pl nces | Eoe | mevienot Recom | Pt Bl | A Sme || SD-58782-0010 | 0 |2
THIS DRAWING CONTAINS INFORMATION THAT IS PQOPRIETA‘l{V TDJW.EX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

4

FEEE@EFEL VIR () OFAIIEMEZLENT LHOHATUKHBER LT D0 EN-QIC(@32)MXJ-32
|

3 ‘ 2



	Contact us

